FE)IETEFRDI SCROLL CHUCKS SERIES

K1 sc|
8 % = T3

3-JAW SCROLL
CHUCKS

o BY 7 MU BE BR

6-JAW AWL TYPE
CHUCKS

EEVRI TR A
4-JAW SCROLL
CHUCKS

o B\ T ER

8-JAW AWL TYPE
CHUCKS

MANBI=MER

3-JAW POWERFUL
TYPE SCROLL
CHUCKS

Eil __A1(A2) |
BRYU=TRH

3-JAW A1(A2) TYPE
CHUCKS

HNDEEEMYTIRER

4-JAW POWERFUL
TYPE SCROLL
CHUCKS

BRI=TRH

3-JAW D1 TYPE
CHUCKS

BWHEM

POWER SOFT
JAWS




REBE X Qg2 3 BESH

A1(A2 3-JAW A1(A2) TYPE CHUCKS
E3EE = J\ZZ88

2 <T @ » Dimensions

B-1A18! Fig1 Altype B8 Fg2 A2hpe
C c

- i II‘T"%
ﬁL—H:.I.H_qu-_ :-E?.n..&'=I I_IS__J“‘"E = &

—
=
| 3|
T
o=

ob

B =]
HiﬁﬁiSp&dﬂmﬁnns E{IUNITmm
EEEE
BT /188 +H¥E mREIME Maxﬂflmp::ng Diameter S
MODEL A B C D E F G H I JKL P M N Reference MaxSpeed #{ipi§ il Weight
{SPEC ARG £pM.(mEY Ulamll:::'dng L:Iall'l'\Dpcrlrg (kg)

A15-08" 200 83 335 619 40 01048 3-M10Ox1.5P 82 82563 28 43 11 1429 016.3 6.8 B-1 fig.1 2000 o8-01B0 o062-0170 17.4
AiB-0B" 200 83 335 826 56 0133.4 3-M12x1.75P 82 106.375 28 43 11 15.88 019.3 6.8 H-1 fig.1 2000 o8-0180 o62-0170 18
AiB-10" 255915365 826 56 0133.4 3-M12x1.75P 93 106.375 32 50 12 15.88 019.3 6.8 [8-1 fig.1 1800  011-0240 070-0230 30.6
Az11-20" 500 135 40 235 190.5 0235 6-M20x25P 140 1968608 558419 - 0204 10.7 -2 fig.2 1000 025-0480 0125-0460



LB X A wgvh /2 3 PEEE

D =3-]AW D1 TYPE CHUCKS
EIEE — JT\Z&5H

R @ » Dimensions
B .
=
b |
=] '1. — p——
a1 ol E] BIg|
= MEEI
=
#8 18 2% » Specifications BE/UNITmn
AW i EEME I ® Max Gripping Diameter 7P
MODEL A B C D E F G H J K L Max.Speed MR PRI Weight
{ SPEC. rrp.m.{min') ©O.D.Clamping 1.D.Clamping (kg)
D:5-08" 200 83 B2583 15 46 19 1048 82 28 43 11 2000 08-0180 062-0170 17.8
D:8-08" 200 83 108375 18 58 222 1334 B2 28 43 1 2000 08-0180 e82-0170 17.3
D16-10" 255 94 106375 16 76 222 1334 B3 32 50 12 1800 011-0240 070-0230 31.3
Dq8-10" 255 94 139.719 18 76 254 1714 83 32 50 12 1800 o11-0240 a70-0230 30.9
D:8-12" 310 105 139.719 18 103 254 1714 118 40 56 14 1800 015-0300 090-0290 51.1

Di11-20" 500 135 196869 - 1905 302 235 140 55 84 19 1000 025-0480 0125-0460



KB & 75wk /2 3 HEEH

0.p0weR SOFT JAWs
E7JEM

R <t M » Dimensions

T
[ (T
ﬂl . .f..i...-.' |
H { i i 4
L . ';}ﬁ*ﬁj;-r-— —
o lE

R 48 3= » Specifications W A/UNIT:mm
RIS 4848 AE
MODEL A B c D E F G H J K L M N Weight
1 SPEC.
S00dJaw 52 30 19 24 853 7.84 Méx1P 14 11 3 25 29 7 0.45
SO05Jaw B2 35 24 32 1268 7.84 MBx1.25P 156 14 3.5 3 24 ] 0.9
SO06Jaw T3 ar 26 38.1 12.68 7.84 MBx1.25P 17.45 14 a5 3 25 9 1.3
SO07Jaw 85 48 31 44 .4 12.68 7.94 M10x1 6P 25.3 17 3s 3 34 11 26
SO09Jaw 110 48 37 54 1903 127 MI2A1.75P 28 18 42 3 34 13 3.6
SO12Jaw 125 54 42 63.5 19.03 12.7 Mi2x1.75P 30.75 18 4.2 3 38 13 55
SOi6Jaw 160 70 50 76.2 19.03 127 M16x2P 41.8 25 55 6 48 17 10.4
SO20Jaw 160 80 55 762 1903 127  M20x25P 419 32 55 [ 58 21 s



LB & g/ @ @BE

SK 3-JAW POWERFUL TYPE SCROLL CHUCKS
5 7D B = JI\ZZ8H

R o @ » Dimensions
w38 I
Front Mounting Mounting o
T — HERe €=
i = 1_/I
.............. ; i :TL%H
' K |
=1 —""ﬂi_“' B 2 3§
| JLE
® u
: il‘\'
| ¥ T
B4
B—--LL—
#%.48 7% » Specifications 8 EUNITmm
US04 B EEE IEEFER Max. Gripping Diameter PE
MODEL A B C B E P G H J K L MaxSpeed NI P 4 Weight
I SPEC. rp.m.(min') ©.D.Clamping I.D.Clamping (kq)
SK04 112 58 80 95 24 45 3-MBx1.25P 47 19 315 8 2500 03-0100 035-093 3.45
SK-05 132 60 100 115 32 45 3-MBx1.25P 57 24 36 B 2500 a3d-o0123 043-0122 50
SK-06 167 66 130 147 45 5 3-MIOx15P 68 26 39 10 2000 08-0160 055-0150 8.6
SK-07 183 76 155 172 58 5 3-MiOxi5P 82 28 43 1N 2000 a8-a180 062-2170 12.8
SK-08 203 V6 160 176 58 5 3-MIOx1.5P 82 28 43 M 2000 ad-a180 062-0170 141
SK-09 233 84 190 210 70 55 3-Mi12x1.75P 83 32 50 12 2000 ol1-0220 o70-0210 20.4
SK-10 273 86 230 250 82 55 3-Mi12x1.75P 102 32 545 12 1800 g12-0260 080-0250 26.7
SK-12 310 96 280 285 105 7 3-M12x1.75P 11B 4D 56 14 1800 815-0300 020-0230 39.3
SK-18 405 122 345 375 160 8 B-M14x2P i80 B0 7% 1§ 1500 030-0400 0110-0380 823

SK-20 S00 140 420 458 205 55 6Mi16x2P 140 55 B84 19 1000 025-0480 0125-0460 145.5



RE & Qg /2 3 WEEH

PS 4-.]AW POWERFUL TYPE SCROLL CHUCKS
58 7 SE BN BY PO /T\ZEEH

R < @ » Dimensions

E}

¥R 18 3% » Specifications BE(TI/UNIT:mm

AL /1 EEEiEE IBEEE Max Gripping Diameter SR
MODEL A B C D E F G H J K L MaxSpeed NEEmE IR im Weight
I SPEC. rp.m.(min') ©O.D.Clamping LD.Clamping (kg)
PSK-O7 193 76 1556 172 58 5 3-M10x15F 82 28 43 11 2000 08-0180 062-0170 12.7
PSK-09 233 84 19 210 70 55 3-Mi2x1.75sP 93 32 50 12 2000 o11-0220 070-0210 208
PSK-12 310 9 260 285 105 7 3I-Mi12x175P 118 40 56 14 1800 015-0300 090-0280 43
PSK-16 405 122 345 375 1680 8 6-M14x2P 180 30 75 15 1500 030-0400 0110-0380 86.7

PSK-20 500 140 420 458 205 55 6-M16x2P 140 55 84 19 1000 025-0480 0125-0460 149



BB & kv /. 3 ME=EE
,4-JAW SCROLL CHUCKS

SEENBRIPU/NBEBE

f= <1 @ » Dimensions
&R
Rear Mounting
; VjJ
K
et g el s
JLE
EE l
H""L"
Hﬂﬂ?smﬁmﬂﬂm BAUUNIT:mm
LS NEEWE Sl Max Gripping Diamater ﬁ!
MODEL A B C D E F G H J K L MaxSpeed SR IBIR meegm  Weight
/ SPEC. rpm.(min’) o.D.Clamping 1.D.Clamping (KQ)
PS-07 183 76 155 172 ©5B 5 IMIOx15P 75 22 28 M 2000 24-2180 e56-8170 121
P5-09 233 84 180 210 70 bBH5 3-MI2x1.75P BS 24 345 12 2000 25-8220 o62-8210 19.4
PS-12 310 96 260 285 105 7 3IM12x1.75P 110 30 45 14 1800 210-2300 286-8220 38.1

PS-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 214-2400 ©100-2380 824



E S BB Qagih 2 3 BE
‘Jﬁ-_;.qw SCROLL CHUCKS

HEE — JT\ZZ0R

R <f B » Dimensions

#R 8 B » Specifications B ALUUNIT.mm

A 488 WMEEEE IPEE Max Gripping Diameter 7B
MODEL A B C D E F G H J K L MaxSpeed M. i 37 et PIiE Weight
!/ SPEC. rp.m(min’)  ©.D.Clamping I.D.Clamping (ka)
SC-03 B5 45 60 73 16 35 3-Méx1P 35 11 16 7 2500 22-870 o24-a64 15
SC-04 112 58 80 95 24 45 3-MBx1.26P 42 14 17 8 2500 03-280 #32-084 4.3
SC05 132 60 100 115 32 45 3-M8x1.25P 50 16 20 8 2500 83-8110 035-9100 4.6
SC06 167 66 130 147 45 5 3-MIxi5P 65 19 23 10 2000 24-9160 2848-2150 7.9
SC-07 183 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 ad-a180 a56-2170 120
SC-08 203 76 160 176 58 65 3-MIOXI5P 75 22 28 11 2000 B4-a180 956-0170  13.3
SC09 233 B84 180 210 70 655 3I-Mi2x1.75P B85 24 345 12 2000 o5-8220 062-2210 18.3
8C-10 273 B6 230 250 89 55 3Mi2x1.75P 98 28 39 12 1800 o6-0260 e70-2250 26.2
SC-12 310 96 260 285 105 7 3Mi2x1.75P 110 30 45 14 1800 210-2300 a86-2290 376
SC-16 405 122 345 375 160 8 B-M14x2P 146 40 56 15 1500 214-2400 &100-0380 80.7



B
A CAP———

SHEEY/\/T\ZEEH

R < B > Dimensions

BB & ikl 3 BEEE

r
AR 1& | » Specifications B {/UNIT:mm
st /188 EGEE SIBEEN Max. Gripping Diameter PE
MODEL A B C D E F G H J L  Max.Speed AETICE Weight
/ SPEC. r.p.m.(min) 0.D.Clamping (kg
AE-09 233 B84 190 210 100 55 4-M12x1.75P 85 24 60 12 1000 a7-p100 21



&]A‘W AWL TYPE CHUCKS

SR 7/T\ZEEH

R < B> Dimensions
AT b
s e
T2 ;
{ ¥ ! i
N e =oiam 3
I -l:'. ' | -"':\,_L‘ ............... :
Pl i ) _.u-‘ﬁ ..
l
B
#7 #& & » Specifications
Bt/ IR b gl - Bl
MODEL A B C D E F G H J K L Max.Spoad
| SPEC. _ . I'-Fl-m-.iﬂ'liﬂ“l
AS-D4 112 58 80 95 32 45 3-MBx1.25P 45 14 45 B 1200
AS-06 167 65 130 147 60 50 3-M1Ox1.6FP 66 18 43 10 1200

© B4 5 42 3 5@1

B /UNIT:mm
JESNNEN Max. Gripping Diameter 3K
P b
0.D.Clamping (kg
@2-032 3.8
83-260 8.2



